AT 997 U

....................

...................

HeT - 5 ( Tarer : 7ifvTa )
e yv & et faseu R M %1 fag @md

R IRT ¢ 15
qag ¢ 1 Eue

1) T 4312 & i 3 T AT © -

2) TEAet 1682, 4291, 1326 TH 3254 § 9 forat

3fe 2 T TTHIFHM 20 872
0 3 30 300 1326 4291 1326 1682
3) EEAT 983 w1 fawTid €9 - 4) =1 % 9@ 2507 ® UIRE 37! T U aR & WA
T G ool W el TN ©
300+80+9 900+80+3
300+90+8 900+30+8 7052 7520 2507 5702

5) @R 2785,3976,4370 TS 1497 H ¥ 98 e fafay
AT 37 7 TS & S TR

2785

3976 4370 1497

6) Tk TITerH 380 T AT 410 TG &1 T T et Feher

TIE2380+410= ........ ]
790 WY 380 9]
410 W] 690 Y]

7) I T 220 el Td HAST o U 120 A 2|
TS 6 % UG oAl ki G TR atferk 77
220 - 120 = el

[N

.........

120

340

8) el sierd T e I T Swt? 254 - 1= 146

108 146 254 400

9)

T 700 T T ST T2 | 3G 522 €9 ST GTHM
@L<l 379 3HF I fohd €03 9 o=)?

10) TFF < Hel H § 228 I 1 Th Taelq1 @l
e a8 <1 el @i af S8 fra- o931 39 Bia?

700 - 522 = ..o, T
178 T 222 T 228 T 230 T
522 T 700 TP 226 T 456 I
11) 100 TR ¥ foha HX Bt 872 12) 100 TESZ3T &l 10 et H SRTER-TTeR T@H TR I
e | fohd- g g B2
1 e 2 Wi 10 TS, 110 TEg.
5 HeX 10 HeX 90 e 1000 TEE

13) TIeTSiTer eTerfa & wsTrat &1 g g 2 |

14) T & fFg TSt 72§ Tt =t 9 gag w5y

Bt B2

ECEES feda T

SECE

15) Teh TR 1 ST ¥ 701G F9 1 qedah! & 565 o2 &1
1 e fea e 82 565 X 5=

.............

IfE Yo gt U 5 [Edeh €, Al SaTgy o ¥ 7T ferse

2825 &I

560 &I 2505 &I




